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72 95 9] AT Mini Logic | 9 F1 5¢ i 1 85 B 9 076 B St 1) 3C 4 7 62 0 i ot 01 B9 38 5 2 7
e S LT B 0 ASIC S = A S5 BB 5 0 6 15 3047 78 M e 6 T S L B 56
o TR TG B A IR T 8 = Ik A
0 25058 ARG~ S AR T 7 B DA T 0 o

AL 2 KB E A AL 2 &S A R AT E A SR R B B B ASICIH H - 3
B RV J) R4 19 MiniLogic i MR L TR B > e Ml H 88 A MBE LBl - BE _ZFTIF
FrZFE—FF+A=+—HILFEZSFE > UAKE_F——FAAA=ZTHILAMA -
A HE [ 2 AR WA A B A 2 400,000 3 98~ 15,900,000 # JC & 4,600,000 # G > 1
EBITDA I 4 Al £ 1,300,000 % 7 ~ 20,300,000 # 7T % 6,100,000 # 7C = [7] #1 > A< 4 3] 2 ik %5
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EHZEMTRER > AEEZWH LB - MBI B & 02 R R S - B E
TR Z R RS A —F —FHEARNH KL -

B bl 2 Ah o A AR I e R e AN B T 2 S - B BEIR DU KO B B e A R At T
RAM 5% %

- 168 —



Bt % B #®

FAEBEE-_E——F+A=ZT-BLET+EANBBRR

SR B8 A T R o R B R BT R R AT
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ASIC 7 3B
— 5 B 4R R IR
AR R (56.9 %)
CCD ¥ %% 2 #i 4 i &8 % (47.2%)
DVD #% it #5 4 1% 75 % 72.2%
— ASIC IR B it A 98.9%
ASIC 7 3 48 5t (26.2 %)
BEERER DI
— o B 4R R IR
R AR R (23.7 %)
At 45 28 AR 0 FH A9 LCD B B 25 5 i iR 157.2%
H At 71.3%
BEERER D BEF 47.3%
FrE D EBEST (13.6 %)
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—E2-%F —g2——F
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ERE
ASIC 77 # 44.1 % 42.2 %
e AR N B ) E 27.4% 28.0%
e 41.2 % 38.0 %
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AL %5 420,400,000 0 c HE F——F T+HA =T —HIETMAZHKGELN S
45,600,000 70 - W#HE ~F —FF+H =1+ —HIETMA KD L13.6% -

W TR R B g D T R () BRSO R 1Y R AR 9 £956.9% 5 (i) CCD B 5% R St
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R o CCD B 55 A 4R B B W48 382 W] B PRI i) 28 9% 0 85 19 CCD B 55 A& A4 4R B B
Y 75 SR B8P 5 L (i) BT B9 CCD BE %% 2 & 48 B B A 75 SR 309 i A7 2 9 1 R 8 o AR R Y
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ez EUBER
BZE+—-—A=+-HBLEE BEAA=+HIEAEA
—EBNE —E—EF —E—BF —E——
T 7T 7T # 7T
(REEH)

Y = 25,361,770 66,065,552 20,894,134 25,186,912
BH B 42 Rl TR B S R R A

1B iR B 2 AR (18,525,247)  (39,253,838) (13,612,486) (15,126,439)
E A 6,836,523 26,811,714 7,281,648 10,060,473
HoA e A 538 312 75 1,616
B T A (2,896,375) (3,646,118) (2,001,369) (2,398,029)
% (892,061)  (1,105,912) (488,579) (571,658)
EIN & RN R — (383,025) — —
WAHEMS — i g (319,291) (369,565) (184,783) (184,783)
HC A %8 75 B SZ (2,275,177)  (2,148,828)  (1,089,049)  (1,383,693)
Rl & R A (11,573) (65,412) (2,788) (8,252)
B B A R 442 584 19,093,166 3,515,155 5,515,674
i 45 B B 2 (73,085) (3,150,321) (579,988) (911,567)
FE/HRER 369,499 15,942,845 2,935,167 4,604,107
Huzmksa
KEEMDE - WE K

R B R — 206,780 — —
KEEMDE - WE K

R B R ) R SE B TE R 2 — (34,118) — —
FE/HAHEMGEZEWSE — 172,662 — —
FE/HREZEWRZALE 369,499 16,115,507 2,935,167 4,604,107
BRER
H AR 0.2 # Al 10.6 #5 1Il 2.0 #E1Il 3.1 8 A
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W =

Wedd BNPLIE T ALEE S 2 B 2 896 E > LRk A ASICHR B & H b A B T 72
e 5 = TR B 2 A Wi 4 % i s UOfUME 2 AP ERE & 0 BRAB & KA dn -

By 89 8 W R B W) AR L B A B R R AT .
# 7 2 Wi

BE+T-_A=+—HLHFE

2R A R AT ARG B 0 ] 4%t LA

BEAA=1THIANEAR

—EBAE —T-BF —T-Bf —B—-—Ff
T T T T
(RISEX)

Gy 13,049,058 44,767,267 13,130,822 13,840,854
s 9,159,853 12,392,242 5,397,308 5,598,952
% 2 B 518,700 2,678,072 538,200 2,535,975
L3 934,105 4,792,598 1,137,855 1,845,672
= 477,563 300,485 66,027 899,227
=0 1,219,840 1,129,429 623,922 466,232
HAth 2,651 5,459 — —

25,361,770 66,065,552 20,894,134 25,186,912

N RN AT Bk ] 4 20 T M R B 2 2 i aR

BET-H=t-HULtEE

BEAAR=tHIEXNEA

—ZEZhE —E-%F —E-%F —E——F
1k 1k {6 1t
BT Bk BT Bkt BT Bak BT Bok
(RBER)
ASIC D 5
— B EREN (Ha)
T AR R 6,751,899 26.6 32,541,037 49.3 8,827,438 42.2 8,433,153 33.5
CCD B % 7 4 48 1 B 5,530,368 21.8 9,890,090 150 3,328,884 15.9 2,299,090 9.1
DVD #§ i #F £ K 7 % 4,707,937 18.6 7,460,798 11.3 3,521,862 16.9 4,044,796 16.1
Hit 188,877 0.7 95,579 0.1 — — — —
—ASICHR B WA (Mt it2) 726,472 2.9 4,491,100 6.8 228,900 1.1 3,280,000 13.0
17,905,553 70.6 54,478,604 82.5 15,907,084 76.1 18,057,039 71.7
BEERER? B
— 5 B AR A B
0 R B AR L 4,971,206 19.6 5,388,933 8.2 2,913,051 13.9 2,137,676 8.5
6 # A6 I LeD
B ) 75 42 KR B 1,082,246 43 4,060,418 6.1 1,073,902 51 3,213,251 12.8
Hpb (HfiE3) 1,402,765 5.5 2,137,597 3.2 1,000,097 49 1,778,946 7.0
7,456,217 29.4 11,586,948 17.5 4,987,050 23.9 7,129,873 28.3
25,361,770 100.0 66,065,552 100.0 20,894,134 100.0 25,186,912 100.0
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WFFT - R Fr RS E ST E I ERER > W CHBEZERERE TASICKEF - R
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Gy o R RSy SETE o 5 — 77 - MiniLogic dh M5 T B T B 8 40 8 R R B -
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T 7T 7T 7T
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